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QUESTION 1

A WebLogic Server instance can have multiple network channels defined for it.

Each channel for the server must have a unique combination of two elements. Identify these two elements.
A. Tunneling enabled

B. Listen address

C. Listen port

D. Outbound enabled

E. Channel weight

Correct Answer: BC

QUESTION 2

GridLink data sources are designed for use with an Oracle RAC database. By using the Fast Connection Failover (FCF)
pattern, GridLink data sources can quickly react when a RAC node goes down.

Which two statements are true?

A. The Oracle Notification service is used to notify the data source of changes to RAC nodes.
B. The reaction is quick, because in using FCF all network timeouts are set very low.

C. FCF is faster because it polls and tests connection, freeing the data source from these tasks.
D. FCF requires the use and configuration of a database server in the GridLink data source.

E. You can use any Oracle Thin database driver with a GridLink data source.

Correct Answer: AD

QUESTION 3

As part of troubleshooting an application, you need to analyze the HTTP session count and the server heap size over
the past six hours. You are using the Administration console. You want to view both metrics together and correlate their
values.

Which three steps should you take in the Administration console?

A. Create a custom view.

B. Start the JVM Runtime view.
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C. Drag each metric onto two charts in the same view.
D. Access the Monitoring Dashboard.
E. Click the application\\'s Monitoring tab.

Correct Answer: CDE

QUESTION 4

You access the Deployments page from the Administration Console. The targets and state of each
application are displayed. One web application named web1 is targeted to serverl and is in the NEW
state.

Which statement is true?

A. webl is available but has never been accessed

B. serverl is in standby mode

C. serverl is not running

D. webl is in the process of being deployed to serverl

Correct Answer: D

QUESTION 5

You are troubleshooting Java Transaction API (JTA) transactions.

The WebLogic Server extension to JTA provides which optional transaction attribute to make troubleshooting easier?
A. aname

B.an ID

C. the status of "marked for rollback”

D. a status

Correct Answer: A

Reference: https://docs.oracle.com/middleware/11119/wls/WLJTA/trbtrx.htm
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